Tableaux des Puissances de Dix (A)

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (A) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 10 000 1000 100 10
5,88 0,000588 0,00588 0,0588 0,588
1,21 0,000121 0,00121 0,0121 0,121
6,56 0,000656 0,00656 0,0656 0,656
9,07 0,000907 0,00907 0,0907 0,907
7,37 0,000737 0,00737 0,0737 0,737

+ 100 10 000 10 1000
9,07 0,0907 0,000907 0,907 0,00907
5,15 0,0515 0,000515 0,515 0,00515
1,44 0,0144 0,000144 0,144 0,00144

3,6 0,036 0,00036 0,36 0,0036
4,08 0,0408 0,000408 0,408 0,00408

+ 1000 10 10 000 100
1,67 0,00167 0,167 0,000167 0,0167
4,08 0,00408 0,408 0,000408 0,0408
3,15 0,00315 0,315 0,000315 0,0315
9,22 0,00922 0,922 0,000922 0,0922
5,33 0,00533 0,533 0,000533 0,0533

+ 10 000 1000 100 10
4,29 0,000429 0,00429 0,0429 0,429
2,69 0,000269 0,00269 0,0269 0,269
5,41 0,000541 0,00541 0,0541 0,541
7,04 0,000704 0,00704 0,0704 0,704
9,37 0,000937 0,00937 0,0937 0,937
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